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GEOGRAPHY (PAPER-])

lTime Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Tllustrate your answers with suitable sketches/maps and diagrams, wherever considered
necessary. These shall be drawn in the space provided for answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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@Us—A / SECTION—A

1. fafafea § & yds &1 amm 150 vt § 3w i .
Answer the following in about 150 words each : 10x5=50

(a) e fawwrEl 3 376 gfomEl w1 avfs Hif

Describe phreatic eruptions and their consequences.

(b) @Y AT FI TFHAH F H1 gz T Gamé 7S qeAH F) T hifvg |

Explain the techniques to calculate potential evapotranspiration suggested by
Thornthwaite.

(c) ¥efEe i Jnaie form woR o 7

How are sandspits and tombolos formed?

(d) WHESiife U 9 wWE @, 5 vl i diifers dmei w1 Pufon s 2) s S

Amensalism is a biotic factor that determines the geographic limits of species.
Explain.

(e) TEANIE W= U % foru FoRw weR A &7

How do mountaineers constitute a threat to Mount Everest?

2. (a) vl i et Ffdum =1 waw Fe fee o saws 30 w0 o &9 w9 ey A
F1g I TEE 3T A 7

Why is it necessary to conserve genetic diversity of species? Do protected areas
serve any useful purpose in this context? 20

(b) Tafta w6 wie dmedt & <fe aaEand s fRwmand o S

Compare and contrast different types of plate boundaries. 15

(c) T STy 1 YHfa 9 AfFes sl qREdd W 3T UNE S sgre i

Explain the nature of urban climates and their impact on global environmental
change, 15

3. (a) dgHEHR TheE F B-FiREhY giew ) fIwr 3 R A

Discuss in detail the tri-cellular model of atmospheric circulation. 20

(b) T A 9 A R WER ge1 I @ et §7
How are soil acidity and alkalinity related to soil fertility? 15
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(c) “Sfed i = fFd g & T & oiv witfeufoss @ & forelt o s & Tz & whom)
e T | = A W 81 gere hife)

“The web of life is seamless and the consequences of disruption to one part of
the ecosystem ripple throughout the whole.” Elaborate. 15

4. (q) EFa F FEd 3 wfEm aee B faftet B e A gEd 8t = dne F3 e

ST BY

Discuss the methods of measuring the intensity and magnitude of

earthquakes. How are seismic zones demarcated? 20
(b) W WAREY & R WH 9 WA W GGl % 99 H gaiien g9l 9 § w9 fha s e g

feoqoft hifsr)

The impact of floods on life and property can be most effectively reduced by

hazard mapping. Comment. 15

(¢ ¥R T ¥R et E7 <o a0 i i i @l % o fasiea fifs

How are ocean waves formed? Distinguish between a wave of oscillation and
a wave of translation. 15

@WUvs—B / SECTION—B

5. Fefafad & & yo® & emm 150 wisdt # IW R
Answer the following in about 150 words each : 10x5=50

(@) “NT91 TF fA9I TUH W IOA A R R 0H Ao arel & JAW F AN ¥ 9 WE A
et 1" s Bl Wit SR Heherw Wl g wWiel % wedf # 5@ w1 vl i)
“A language originates at a particular place and diffuses to other locations
through the migration of its speakers.” Examine this statement in the context
of language hot spots and endangered language hot spots.

(b) T (Efem) iR wilife & (AfEn) Fi gfenfia i) w0 Frm 2 7 3 e g *
=1 A fie foeme &7

Define stunting and wasting. Why are these more prevalent among children in
developing countries?

() vEEn N fiad 71 R (To 3MRo 3Wo) 3N THEA F Il Y & ¥ 19 day
I wE Fif

Explain the relationship between net reproductive rate (NRR) and true
replacement level of population.

(d) wHfees yem @1 87 @ vemil @ A fhw wew fim €7

What are natural regions? How are they different from planning regions?

(e) WA g gad 7 drmadt & gty it wow=t fifg)

Discuss the genetic classification of boundaries suggested by Hartshorne.
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6. (q) WHA frFm GEHF (THo Ao ao) I o F wHH F ar A @l bl W A AWy TR
SR B | THo Slo 3o #1 FaAMTRd TREHIS H FHIGSATEF FIa0 Hife|

HDI has brought about a paradigm shift in the way people think about the
development process. Critically examine the inherent limitations of HDL 20

(b) < fafmin & a2 fr A werao fewf den § i # giom @ S e
dan § el % 9Uer 71 56 Fud o favemm i)

“A large-scale global shift in manufacturing is the outcome of
deindustrialization in the developed world matched by industrialization in the
developing world.” Analyze this statement. 15

(c) *iaT VaTfeEy ¥ S o wnE ¥ I [ % fo St ifeat 9 Fes e
What do you mean by ‘climate migrants’ Suggest appropriate policies and
programmes for their resettlement. 15

7. (a) mqﬁaﬁqaﬁtwﬁﬁmmaﬁaﬁawﬁaﬁwﬁamwmﬁ%ﬁmw
St 6 adam SRS, e R wea § - T afed|l ) e 27

What changes in the current planning, management and governance of human
settlements are needed to face the changing environment including climate
change and disaster vulnerabilities in cities? 20

(b) Ayt STE Sk GEH ) IR WAl ¥ | 6% HHRIHF 9 TR FTE 187

Globalization can often subsume folk culture. What are its positive and

negative effects? ) 15
(c) « fyfirr Tl W Hgf wEEH 21 5@ e o 9fs ga Rl % aite A e

wiegor Fif |

“Growth is not uniform in different places.” Critically examine this statement

in the context of the growth pole theory. 18

8. (a) a9 emafew § fave Hiftm sehe A gr & 8 St sEfefd fir =gman

T frE 1 e el i)
Distinguish between ‘isodapanes’ and ‘isotims’. Critically examine the least
cost theory of industrial location given by Alfred Weber. 20

(b) I ST % waiive 92 siw ave gt ¥ fore gAfe 1 R hifo

Assess the challenges for countries with the largest shares of aged populations. 15

(c) T s forele Ry i wmmiiewd H1 wleo Hie)|

Examine the relevance of the ‘rimland theory’ in the contemporary world. 15
* kK
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